LOG-LINEAR MODELS OF THE ASSOCIATION BETWEEN HUSBANDS’ AND WIVES’ EDUCATION BY SAMPLE
	
	Prevailing marriages
	
	Newlyweds

	Model
	df
	G2
	BIC
	
	df
	G2
	BIC

	(1) HYS, WYS, HWS
	720
	8076
	-2370
	
	336
	481
	-3286

	(2) Model 1 + OY
	678
	6627
	-3210
	
	329
	462
	-3226

	(3) Model 1 + MY
	510
	2799
	-4600
	
	301
	388
	-2986

	(4) Model 1 + CY
	552
	2522
	-5487
	
	308
	387
	-3065

	(5) Model 1 + OYS
	675
	6606
	-3187
	
	---b
	---b
	---b

	(6) Model 1 + MYS
	495
	2721
	-4460
	
	---b
	---b
	---b

	(7) Model 1 + CYS
	540
	2465
	-5370
	
	---b
	---b
	---b

	(8) Model 4 + OY
	510
	2102
	-5297
	
	301
	377
	-2998

	(9) Model 4 +  MYa
	426
	1635
	-4545
	
	287
	352
	-2865

	(10) Model 1 + OY + PY
	636
	5958
	-3269
	
	322
	450
	-3160

	(11) Model 4 + OY + PY
	468
	1530
	-5260
	
	294
	365
	  -2931

	
	
	
	
	
	
	
	

	(12) Model 1 + UY
	678
	6829
	-3007
	
	329
	462
	-3226

	(13) Model 1 + UYS
	675
	6822
	-2971
	
	---b
	---b
	---b

	
	
	
	
	
	
	
	

	(14) Model 4 (DC1*Y = 0)c
	594
	4252
	-4366
	
	
	
	

	(15) Model 4 (DC2*Y = 0)
	594
	3058
	-5560
	
	
	
	

	(16) Model 4 (DC3*Y = 0)
	594
	3391
	-5227
	
	
	
	

	(17) Model 4 (DC4*Y = 0)
	594
	3778
	-4840
	
	
	
	


Notes: For prevailing marriages: N = 1,998,956; Cells = 1,175. For newlyweds: N = 73,904; Cells = 575. Model terms (number of parameters): Y = Year (42 for prevailing marriages; 21 for newlyweds in Model 1, 7 for newlyweds in the interaction between assortative marriage and year); H = Husband’s education (4); W = Wife’s education (4); S = Data source (1); O = Homogamy (1); C = Crossings Parameters (4); M = Main diagonal (5); P = 1 if H > W, otherwise 0 (1); U = Uniform association (1).

Sources: Current Population Survey (CPS) and U.S. Census data (IPUMS).
aOnly two of the four sets of crossings trend parameters are identified when the main diagonal trend parameters are included in the model (Powers and Xie 2000:118).
bSource is collinear with year for newlyweds and thus three-way interactions between assortative marriage, year, and source are unidentified.

cModels 14 through 17 each restrict one set of crossings-year interactions to be zero.  DC1 = <10/10-11, DC2 = 10-11/12, DC3 = 12/13-15, DC4 = 13-15/(16 years of schooling.


�SOURCES: mare1, /do: modeltest.log; /do/newlyweds: modeltest_newly.log.





